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sevall LoBmId LUIBAN Lfley
AA3 uf ews — wyemew 2018
(AA32) wpaTemndgiens HeniebsHD HiaHuluisib

UflibgHienFssUILL L 6lenL 6l )

BI6i@ (04) s LT elenmdamsit

(QomgsLd 20 LeiTerilas6iT)

elleoim 1ia&men LMbHINISBLILLL  6l6nL H6iT

a) safilu’ L Bas AL eler Siggneomisst 2 GRUAGS

WsOehAw ST aRSCITHH Hewsv CUTMHEMTHIT OB HH6MMIDSET  LIBenT  HLOL
AmBHH0 UFHW auBedB HMTHEH B Hewev W HTem &L BUUTL enl GIDlILIGSHHIBBS.
B&HFTT  clpevauenbibsmenl  QuUB®I  OBTeaTaIdHed  LWeTLIBHSIOISID  UTSHISTILISSID
CremeuliL(BlD HBement QUTLD BT6T (LPILSINOTS NHBfHEF CFuISBEI.
Beil@ HULOLI L H  Opefans Oeleflwumssliu@Bd BTy sSyworasaisd  Smbal
2 _MHAUTGID SHMULLL OHTLFLSMET 2 UITHHISBEI.
IHTBTVHMSH SHHHSH CBTeTaubHTH gBULSamIgUl  CFsvailemissmer  eIATULTTHSI
SEMlUL L QUT®HEMTHTY E60HEGHHMEN DML AUHTL Hlg OSHTLTLITEN HeUsnevHsIed QMHHHI
alBHmev HemLHeBF CFUIFBSI.

(02 yeiterflasiT)

b) sellu’L PHHH HLifiedenr ouglinen, Bwdsst (3) GBILIGS

61T BTEVHH ST HILLLOIL 6D
HULIOLL GuSL QWL HT6v HewL HT60 CBT6TNHHMEN  [HliTemThd
SBOUTeNHW B Bensvenul SfleudbBE,
WHMTHS LJelnmsr LS enl SumfldgHs0
OFsveemBIBm6T HHBFHHTOE UTTHSHIH CHTeTemsy
2 flu &sTeuhHHHIHGHeT L ullell OHTendemul OFsnIdaIHe0
SFTdH CHemeusemenud alLILBEMUD CaumLbBSHHINHBESG
FHLOIBEG QITHIGNH60 HOIIOTS G [HHHN|LD
Hengfl GFsveymdel LUBPIUI LH6NB6T MeIHH GBTETENRID
(03 yeiterfasiT)
(Qurss LeieiaeT 05)
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el 2mamen UfbgHienysasliul L allenL et

ellnenels Seimeir

a1 sevwllder CQeuefluibhsst WBBID CHTEEMISEHHHE Sl uleorer OHTLTLBM UGWD. @
Caemer oisLeVGH HBDFHHHFI L CeuslluiBaeT alldolilu HTEsHmPH HHAUTHMeN 2 BISILBHSHTELD.
all6n et g g5medr

Qs emwlifer 2 6TafBaEnsGHD Oousfuihsepd@d RemLuled 2 6Tem CHTLTUL @& elenen
Hmedr eMTH SHILILIL(Heiten 266 (hdEnHHTen Oousfui e o FFILBGHH0 DieL6VH @ SHILILILL
Ceueluil BH& GOBHS LILF 2 sTefligenen LIWLTLBHH0 G0

flesed

Aax s GHOBHH HIwdhFHev o sterihmeien GUTHHHIOTE Sl OBBID HIHms OLmIeIH 6rTe0
SIWLWNEUDID.  Hbsemd  slediugl 2 efTeiBHefen  SFud  FOUBSUULL S 2 6iei(BHemer

SIBEIHOHTTENGBInIQUI GHMBBSLILILF SHIULHHe0 CLBINISHITEL SHENET DML UL (LPIQULD.

(05 yeieriaeiT)
el 3maren UfbgHienysalul L allenL el
a) QIS H6T CFsfllid HTevHMS (BT H6iil60)
= Fyngfl aumaHen X 360 Bl sHei
alBLIenss
2017 s 31 = [(29,200,000 + 45,600,000) / 2] / 340,000,000 x 360 BrL_s6i
= 39 ®m” et
2018 wrj& 31 = [(45,600,000 + 60,800,000) / 2] /332,500,000 x 360 ®r_seit
= 57 w6t
(03 yeiteriaein)

b) BBev 2 _s6iTe HWIHHL 196 UMBLOSHH6T CFaflliLd STV  NHPBFHHIETeNH. Rl elwimumy
RUMHLOSHIH6T  (LPHTMIDHHHINID  eNlensNeld SHMe GHMBEITH 2 _6T6NGHl  6IILIMSG GBI HA GBS,
Meiieipd HbdHCrmuTwIBIGEemen ! L1yGuiTedadsurd .

1. (PeINBHTE SL6HT HILLIMO|EEHHE SLIOHBET CUDMIBED. - HL 6T (LPHT6YHE (P &L w6
SHJHGID HL6 L CLT(HBG HL6)UH6T 6)IIDPHIGH6L.

2. omypefly  Gremeuenwil OUB @UUMLGHED - IWTUTTD DIH6T  QUHLOTHHEN6T  LIswTLD
Gum BBTEHed Heydh@ wpeIBTD SHIULITT @MmaI®mHE STrewl LfiorBpn  GFuiub
2a1(HOIFUIOTG)LD.

3. olemevd FlenLsmen HWPWIL60 - Rh GDBIHIBTL SLALGHMS OCFULIOTSLD.

4. sLem STUYEIFmW QLB - SMEILLILLTS SLASHEHEE 61HITH HL6T SHTLILBIS UL
@umev

(02 yegiterfasiT)
(Quorss Leiteiissit 05)
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olleom 4iasmen UfbgHiengsaiLL L elenL a6l

T Py A .

Hmeindebas 2amfluib

(20,000 - 9,500) 1oewflSHHulmevmIBHsiT
10,500 wewll SHawimeomisseit

LOTHOTEISISL  &SlFiowrer  (aupenowltsr)  ColmeudEnd@dd CHemauliuBd Hperdds oampul

GOBHSHLLF 26D

LoD HFHULITEVBIBET SHIDHSH SFUID  SLGLD.

BGuwevdlsd Fmeindlbs 2aniflul el UITeORIGH6N (14,500 - 10,500) oewfl&guimevmicssit

= 4,000

BGuwevdlad Bmy Geouemevdhammtern osmifluib = BGuevdla el gHadwimevriseit X (e 800 x 1.5)
= 4,000 x 1,200
= 4,800,000

- mpLE ]

wrs6radBg Causnsoulsind (idle) @md@6loet

THTUTTHBULBSOB 06wl &3 UITEVMRIGHENT = 68,000 06wl g uwImeomigs6iT

BGuwevdlad omfluiy Cxemeuliim® = 0

(Bousmevufletinyl @mab@GD el dwimeomiseT > oMGFL &I Lenen GhHemeuliLim(®)
41,600 oemflg g uimeomigeit X ap. 25
1,040,000

@GNS CBTHLILIGT]

QUTHBID 5,840,000

(05 yeiterflasiT)

dfley 4 @i Blewmey
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apsiml (03) &L Lmul ellemadbaeir.

(Qurgsd 30 yeieflissir)

elleim Shamen UMbGHIenIHBUILLL  6llenLaH6iT

a) elemeneurule] SiLL 6uenet
(Rs. ‘000)
LISTHSS CHeiral
STbeurenGuITg Fyraflwirs o _wieuren@uTg
8,000 2 _eitenGungy 26,000
QU9 6T 17,500 QUL igas6it QUL 96T
(pH6MD Beauemev LOTHB® 1,710 2,600 2,600
ayomeflELd Gmy - 10,000 GQUIL 1g9&H6NT
OFwisi(Lpens BOrewiLTD Gouenev LOTHM (140) 4,087.5 5,200
Gy - 20,000 GQuUIigaen
wsimTd Geuemsv  LOTHBM (1,990) 2,237.50 6,020
Gmyb - 30,000 O 1986
CFUIMES(LPENBES6IT
Bmeited 8,000
8,000 x (450 - 190) + 2,000 x 5 - 2,000 x 190
10,000 =2,080+10-380
=L710
8,000 x (260) + 12,000 x 5 - 12,000 x 190
20,000 =2,080 + 60 - 2,280
= (140)
8,000 x 260 + 22,000 x 5 - 22,000 x 190
30,000 =2,080+110-4,180
=(1.990)
Bzmeited 17,500
10,000 10,000 x 260 = 2,600
(17,500 x 260) + (2,500 x 5) - 2,500 x 190
20,000 =4,550 + 12.5 -475
=4,087.50
(17,500 x 260) + (12,500 x 5) - 12,500 x 190
30,000 =4,550+62.5-2,375
=2.237.5
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Gassirell 26,000
10,000 | 10,000 x 260 = 2.600
20,000 20,000 x 260 = 5.200
(26,000 x 260) + (4,000 x 5) - 4,000 x 190
30,000 | = 6,760 + 20 - 760
= 6.020
b)

ens — ens

(07 yeiterfassiT)

. 6,020,000 umissiienu QuBeSHBE 30,000 GUL ST 2 BUSHE GFuiul GeuswiBLD.

Bmeita
STpeuTenCUITSHI FrnFfluns 2 _WijeurenGumg
8,000 2_eiten@urg 26,000
17,500
10,000 2.600
1,710
2_BUHD 20,000
DIVGEB6IT (140) 4,088
30,000
(1,990) 2,238 6,020
o
ens — ens
Wens —@ems
. 1,710,000 ukisefiienu CUBIRIGBE 10,000 G I9Emen 2 MUSHEH CFuiul GalswmiBLD
Bameia
SHTpeUTerCLITS FyrEflurs 2 _WieursnGurg)
8,000 2_sitenGLTSI 26,000
17,500
10,000
L0 2,600 2,600
2_puss 20,000
DIVGHST (140) 4,088 5,200
30,000 2,238
ens — Gm
(03 yeiteaein)

(Qorss Leieiiasit 10)
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alleoimr 6mamen UfbGienydball L allenL &6

QeuerepsOLOL_LILIL_L T6b:

Geuerflepsol_ UL gBUGBLD alFuib 137,750,000
(145,000 ©I0@FH61T X (. 950)

Buwevdad HFuWniEei

BORLFL_ (B  HL_L GRIhIBH6NT 15,000,000
uft Aoy @Ayund - (ep. 450,000 x 12) 5,400,000
QLTS HID 158,150,000

Slrw BFLILIL s H6IT

SIVCETHNSIBHETE  CLITHL &H6iT

(145,000 Sieo@®sit X 5. 150)

(21,750,000)

FHmendlbs 2mAulfseT 2emguib

(145,000 Sieo@®sit X . 300)

Hpebs mfluly emgluib
(145,000 Sieo@®sit X . 400)

(58,000,000)

SIVOBTEHBEHBTE OTHID 2 _[HLIGHE
BLotb & 6m6eVEH6IT
(145,000 ©I0GF61T X (. 225)

(32,625,000)

SpemngBHTen GBI L Beneowimen Gopbsemevder (16,250,000 X (9,750,000)
60%)
SLEWTBHTE QHISSULLL HleweouwlTest GLobEHeme0aH6iT -
flov apeolIOUITHL HEHD HMHENBEHID IBLIENET 6ien6v (1,186,000)
Qursgs GaLiliy (123,311,000)
GaueMepsotlL LI’ LTed giu®BD Sywid / (GFOry) 34,839,000
ufibgienyiiLg!
2 BUSHHII GuTmeT X Genen GeusilepsollLLILIL & Fal THI.

(10 yemeriaseir)
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alleomr 7memen uUfbgienydball L allenL &6

LTg® 60,000 58,400 ellHBLITFBISG6I
SDI6VGEHSHTET DIVGSHHT
urs® 2_6uiTEmLOLLIT 60T
aywg
HBH6U6LH6T
ollBLIEH 6T (em. 2,500 x 150,000,000 147,168,000 (2,832,000)
60,000 2160 ®6i) (2,520 x 58,400)
@By cpeolIELIT®AT | (or. 1,100 X (66,000,000) (66,860,000) (860,000)
A 60,000 SI60E&B6IT)
GpJ apslIGUT®ST | (. 600 x 60,000 | (36,000,000) (37,825,000) (1,825,000)
B IV GHBH6IT)
Gpy gmel (. 150 x 60,000 |  (9,000,000) (8,765,000) 234,300
IV GHBH6IT)
TRID 2 BUSE | (B, 80 X 60,000 (4,800,000) 4,980,000 (180,000)
BLoBGHmeV SI6VGH6T)
g 2 BuBHS | (@, 2,500 X (4,500,000) (4,360,000) 140,000
Glopgemev 60,000 SIVESSIT
X 3%)
LricseLILy 29,700,000 24,377,800 (5,322,200)
[Bene0LLITeN (18,500,000) (19,050,000) (550,000)
2 Bl
GLofb®Hemev
@eoTLID 11,200,000 5,327,800 (5,872,200)
LOIBHL el
uTS® Op&||p& e 58,400 oSS WITFBIB6I
urs® SIS EHBTEN
D __ 600160 LOULIT 60T
Swd
SHHEULSH6IT
elliLIEm 60T (em. 2,500 X 146,000,000 147,168,000 1,168,000
58,400 Si0E 6T (2,520 x 58,400)
Gpiy (@. 1,100 x (64,240,000) (66,860,000) (2,620,000)
ApeLIEUT®ST A | 58 400 Siv@HsiT)
Gmy (@. 600 x 58,400 | (35,040,000) (37,825,000) (2,785,000)
apsoliGuTmsT B SI60E BH61T)
BBy gnell (eB. 150 X 58,400 (8,760,000) (8,765,000) (5,200)
DAVG BT
IBID _BUSH | (5. 80 X 58,400 (4,672,000) 4,980,000 (308,000)
BLob&Hemev SIGVE&6IT)
THID 2 _BLSS (146,000,000x (4,380,000) (4,360,000) 20,000
Guoth g 6m6v 3%)
LidicseiLIL] 28,908,000 24,377,800 (4,530,200)
BeneoLITen (18,500,000) (19,050,000) (550,000)
2_BUHH
Cobgmemev
Beomruib 10,408,000 5,327,800 (5,080,200)
(10 yeirerieeir)

dfley B @i Blevpey
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Qrewi® (02) sLLTW 6lemaaHeiT.
(Qurisd 50 yeierflissir)

elleomm 8Bamen UMbSHienTSBUILLL  elenL g6l

A)
a) Ko =_ d (+tg) +g
Py
K. = _650(1+0.05) (05 x 100
50
K, = 18.65%
(02 yesiteriias6iT)
b) Kp = do
Py
Kp = 1.2 x 100
12
Kp = 10%
(02 yesiteriiae6iT)
¢c) Kd = K (1-T)
Py
Kd = 10.8 x 100
84
Kd = 12.86%
S— (02 sireaein)
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d) gphmall QuBILdsmenl LwsLIBGSHS BeopCuBPlw Fyrafl apsugend &lywib (WACC)

Fhengd ellensy
(5. ‘000)

%

CPEVSHENS  EITWILD
(CO0O)

WACC

FMSTT60I  LIMIG H6IT

425,000

78.96

18.65

14.73

Bl alUUL (pRWITg  (PeTsIflenioll  LImIGaei

29,250

543

10%

0.543

WU S (IQUITEH  Hell FFhIcb6I

84,000

15.61

12.86

2.01

17.28

B) Cash Flow

(03 yeiterfasiT)

Ll

alliBLene

1,100,000 x ¢5. 220

242,000,000

1,600,000 x ¢. 220

352,000,000

2,200,000 x 5. 220 x (1+8%)

522,720,000

2,400,000 X . 220 x (1+8%)

570,240,000

2,500,000 x . 220 x
(1+8%)2

641,520,000

(-) wrgd 2_BusHd CwhHemeo

1,100,000 x ¢5. 160

(176,000,000)

1,600,000 x . 160 x (1+5%)

(268,800,000)

2,200,000 x . 160 x
(1+5%)"2

(388,080,000)

2,400,000 x 5. 160 x
(1+5%)"3

(444,528,000)

2,500,000 x . 160 x
(1+5%)"4

(486,202,500)

(-) Demeowimenr 2 _{BLIGHS
GLopbHmev

(60,000,000)

60,000,000 x (1+5%)

(63,000,000)

60,000,000 x (1+5%)2

(66,150,000)

60,000,000 x (1+5%)"3

(69,457,500)

60,000,000 x (1+8%)"4

(72,930,375)

QeFwBUTES6IT eLpsVLD
QUL L. &T& alflég
(e

6,000,000

20,200,000

68,490,000

56,254,500

82,387,125

aupoTer aufl (GF-1)

(4,230,000)

(18,717,000)

(15,046,310)

(32,036,140)

(L:RNC)

(122,000,000)

OsTOBUT’ G - wWHb

(8,000,000)

8,000,000

B&Erd &SIl umwe)

(130,000,000)

6,000,000

15,970,000

49,773,000

41,208,150

58,350,980

sPeys srreml @ 15%

1.00000

0.869

0.756

0.658

0.572

0.497

sl ulL &r&Ll

umuiey

(130,000,000)

5,214,000

12,073,320

32,750,640

23,571,060

29,000,440

Dajs  @mbmeny GupIog)

(27,390,540)

AA3 / MAF
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&1 Lewimkiseit (ep.”000)

1 2 3 4 5
B60mLILD 6,000 20,200 68,400 56,254.5 82,387.125
G UILDTEID 24,400 24,400 24,400 24,400 24,400
(ALPSOGHILI  LIIg (30,500) (30,500) (30,500) (30,500) -
(100) 14,100 62,390 50,154.50 106,787.125
30% - 4,230 18,717 15,046.35 32,036.14
(08 siteriiam6iT)
c) W6l et o5 alemene] (IRR)
0 1 2 3 4 5
Bley SrEH  umule)] -1 6,000,000 | 15,970,000 | 49,773,000 | 41,208,150 [ 58,350,980
(130,000,000)
sPeyd srgem 10% 1 0.909 0.826 0.751 0.683 0.621
SN’ L HraLl (130,000,000) | 5,454,000 | 13,191,220 | 37,379,523 | 28,145,166 | 36,236,959
LITWIFE 60
Bars  @Bpeny Guming (9,593,132)
10%
IRR = 15% - 5% x 27,390 | = 7.31%
17,797.41
d) STIWILD: OFUBBILL Hnd (peTO(BHHDH Tl THI
(01 yeireriiasit)

(Qorss Lsitefeen 25)
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ollem 9Basmen UfbHienTHBILLL  elenL a6l

A) a)
i) BBy QUTEsT H6vEna Buwi eflensv (2_ewreniowimer GQoméHad GLUITHL
(Lpy 6T LUTeUsme X [BUIDE Hevened) - (2_6wTenLoWITen
QTHs CQUTEHL. UTEINET X 2 6WIeNIOUITE HEV6N6)
Qumraeit X1 | 150 x [((18,600 + 44,100) kg x 1.5 /5.5) - ((18,600 + | 225,000 (A)
44,100) kg x 18,600 / (18,600 + 44,100)] LTS &BLOT6uIG]
Qumgpeir X2 | 350 [((18,600 +44,100) kg x 4 /5.5) - (18,600 + 525,000 (F)
44,100)kg x 44,100/ (18,600 + 44,100)] FTHBIDTEUIH
GLOTSHBHLD 300,000 (F)
FIHBLOTOI)]
(04 yeiteriep6iT)
ii) Gwr QumEmeT alleneney Buwiw elemsd (Bwipo Gorhbsd QUIMHL. LTealener X
(LPIyemT BUIDE Hevemel) - (2 _swieniowlren GIoTdHdH GLmmHL
UTelsnen X BUIDE SHeVensl)
Gumrgeit X1 | 150 x [((1.5 +4) kg x 11,300 o0& s x 1.5/5.5) - 22,500 (A)
((18,600 + 44,100) kg x 1.5/5.5)] LTS BLDT6UG
Qumpeir X2 | 350 [((18,600 +44,100) kg x4 /5.5) - (18,600 + 140,000 (A)
44,100)kg x 44,100 / (18,600 + 44,100)] UTSHBLOT6IGE
QLTS BHLD 162,500 (A)
LITSH ST
(04 yeiteriiaeit)
iii) el BLeET 6Te0EMBV BUWLD 6T606m60  (BIUIDd HemiWD -~ 2 6wTenind
SIS (LT 60T SHEMAIWLILD)
GLOTGHBHLD 265 x (11,300 - 11,000) 79,500 (F)
FTHBIDTEUH]
(02 yeiteriiaeiT)

AA3 / MAF (pETOMIDHSINS HmbEGL HEulwsid
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b)

B) a) @eoTL Hevelene] el D

OsTHBUT. BH BBl

5. 000 ob. 000 ob. 000
UTSSILLILL L Lk 2,915.00
BLINEISH HEMEI6NTE| 6T606M6V (LD 6NTEH6IT 79.50

2,994.50
(LY 6RT & 6IT A F
elBLemer  elenev 904.00
CryoTmHsT 6lemsv 1,009.50
CryOUTmET LITeem6dT 300.00
Cry QuTmeT elenere 162.50
Gy g6l ellenendhament 235.00
wrmid GophHemev GFsvaiend 354.00
Cordhs TEId CohHmevd &SIFWID 1,761.00 1,204.00 (557.00)
2_amienid @6omUID LinkigeriiL| 2,437.50
(06 giterfapsiT)

(450 x 2,000) + (810 x 1,000) x 100%

3,800,000
= 1,710,000 x 100%
3,800,000
= 45%
Sleiteonmd] ero@gmuifl
QU Quirsifledr almLenen llswev ((H.) 1,080 1,640
GULGUITESBE GB) CLT®ST (ih.) 390 542
GULCWTHISIBE BBy el (ab.) 150 180
CULRCWITETSIBE WIBID 2 BUSH BBHMeL (¢5.) 90 108
QuLigGuwireiriled LikigserILL] 450 810
04 yeieriaeit)
b)
Qrewih OULly SjsiieamFenwid @ Gully edGFTUflepwiud @6iimre CUTd OFUISHTeL
o® Gurgluis Lbisetli (450 x 2) + (810 x 1)
1,710
gLoU LumBU- Lsier QuTHs Beveowrer Aguwid / @ OuTdulesr Ukissfi
(I BLIDEISH6IT)
(1,625,000 + 461,200) / 1,710 | 1,220
Fol url (Bl Leerd
BLIENET BT
QU9 61T
SieTenTe] 1,220 x 2 2,440 QuI_19&6iT
YOGy TLIf 1,220 x 1 1,220 QUi igse6iT
(05 yegiterfessiT)

QT s Lieieiidst 25)
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LorBm efent :

gl url_@u yeiter] = 2,086,200/ 0.45
(QuBIo&ulsev) = 4,636,000
SietTeum S = 4,636,000 x (2,160 / 3,800)
= . 2,635,200
DI6VGH61M60 = 2,635,200/ 1,080
= 2,440 1606 >61

Fwoi ur’_Ba yetel (ep.)

ero@ymuifl = 4,636,000 x (1,640 / 3,800)
= . 2,000,800

DIV G H61M60 = 2,000,800 / 1,640
= 1,220 si0@ 61

difley C @eir Blewpey
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Notice :

These answers complied and issued by the Education and Training Division of AAT Sri Lanka
constitute part and parcel of study material for AAT students.

These should be understood as Suggested Answers to question set at AAT Examinations and should
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.

The fundamental objective of this publication is to add completeness to its series of study texts,
designs especially for the benefit of those students who are engaged in self-studies. These are
intended to assist them with the exploration of the relevant subject matter and further enhance their

understanding as well as stay relevant in the art of answering questions at examination level.

© 2018 by the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
All rights reserved. No part of this document may be reproduced or transmitted in any form or by
any means, electronic, mechanical, photocopying, recording or otherwise without prior written

permission of the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
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